
División (B)
Calcule los cocientes siguientes.

0
40R134

248)10054
124R153

293)36485
82R287

742)61131
104R946

951)99850

381R96
153)58389

21R251
867)18458

13R257
980)12997

232R260
380)88420

103R176
428)44260

17R621
660)11841

39R732
862)34350

156R11
463)72239

90R554
898)81374

21R231
924)19635

24R79
853)20551

85R260
896)76420

52R522
717)37806

359R141
193)69428

126R141
196)24837

113R55
796)90003

183R144
215)39489

347R105
282)97959

246R84
390)96024

62R531
847)53045

50R79
548)27479

85R476
622)53346

49R820
944)47076

328R251
260)85531

96R314
984)94778

132R254
745)98594

81R494
946)77120

178R223
419)74805
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División (B) Respuestas
Calcule los cocientes siguientes.

0
40R134

248)10054
124R153

293)36485
82R287

742)61131
104R946

951)99850

381R96
153)58389

21R251
867)18458

13R257
980)12997

232R260
380)88420

103R176
428)44260

17R621
660)11841

39R732
862)34350

156R11
463)72239

90R554
898)81374

21R231
924)19635

24R79
853)20551

85R260
896)76420

52R522
717)37806

359R141
193)69428

126R141
196)24837

113R55
796)90003

183R144
215)39489

347R105
282)97959

246R84
390)96024

62R531
847)53045

50R79
548)27479

85R476
622)53346

49R820
944)47076

328R251
260)85531

96R314
984)94778

132R254
745)98594

81R494
946)77120

178R223
419)74805
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